=] (2020%F4~6AHA- FIEFMLL)  XATH : 2020.1~3, SHJ : 2020.4~6, K4 : 2020.7~9RiBL

[EIERZELR YFeR E Bt ZE (%) Y¥eR E Bt FED 1 (WFE—BMb)
Hi5A 1 7 0 Hi5A 12.5 87.5 0 Hi5A 12.5
festE S St 0 3 5| R St 0 37.5 62.5| & 5} -62.5
SRHA 0 2 6 SRHA 0 25 75 SRHA -75.0
HIHA 0 3 5 BIHA 0 37.5 62.5 BIHA -62.5
S &2 0 1 U &2 0 12.5 87.5] BuEXE &2 -87.5
PR 0 2 6 EHA 0 25 75 EHA -75.0
Hi5A 1 3 7 Hi5A 9.1 27.3 63.6 Hi5A =54.5
YN S St 0 1 11| /h\FEE St 0 8.3 91.7| /I\GEE St -91.7
SRHA 0 0 12 SRHA 0 0 100 SRHA -100.0
HIHA 1 2 7 AR 10 20 70 BIHA -60.0
J-E2FE! <5 0 2 gl v-Ex%! = 0 20 80| Y-Ex%! = -80.0
PR 0 2 8 EHA 0 20 80 EHA -80.0
Hi5A 0 2 3 GIEL] 0 40 60 HIEA -60.0
FislbnE S 5 1 0 4| HFEE St 20 0 80| GHIZEHE St -60.0
SRHA 0 1 4 SRHA 0 20 SRHA -80.0
HIHA 3 17 BIHA 7.1 40.5 BIHA -45.3
&2 1 7 7 2.3 16.3 7 -79.1
PR 0 7 EHA 0 16.3 EHA -83.7
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